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Foundations of Math 9 Kb\

Section 7.1 Part 1 — Practice Refresher

Place the following points on the grid provided.

a) (3,-5) |b) (-2,1) |¢)

(_4! —8)

d) (4,9) e) (0,7) f)

(7,0)
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Use the Slope Equation to determine the Slope of the line connecting the following sets of points.
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a) (2,3)and (-5,7) b) (1,6)and (-2,5) c) (4,0)and (4,—-2)
vt \;l 2

5-L _ '_'_ —2-© - '_%
—2— -3 L-4 O

d) (—3,-7)and{6,11) e) (2,5)and (3,6) f) (6,5)and (—2,5)
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Foundations of Math 9

Determine (Map) the slopes, and the y-intercepts of the following graphs (Draw and Count)

Slope is: Q/q_

y-intercept: (O, "()

Slope is: — "2
peis: =, =

y-intercept: (o} )

=10

Slopeis: (O

y-intercept: (0/ '2_)

Slope is: S/q
y-intercept: (O) -—3)
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Foundations of Math 9

Are the following points solutions to the given equations? (Are the Points on the Line?) Prove it. No Graphing.

a) y=—§x—2;(5.4) — sob (&,\/) o ’\)JL X o\ \/

'-\’:—2(5;5*2

Pt
¥ ( NO)

y=-2-2 |

b) y=3x+1;(65)

= 2 -l-(
i /f) Yes
SZL‘_\-l 63§ —

c) y=—;x+4;(—7,1)

[:1%?ﬂ+4 [::j

| = S+4 l;q

F=2()-L | 2
z 2

J-1s._ L \_,j =7
2 Z

e) y=—x+2;(—42)

2= -()+2
2= H+2
2=6
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Find three points, other than the y-intercept, that exist on the given lines.

y="3

a) y=2x-5
x= | x2 2 xz 3
Yz 20§ y=2-< y=2(3)-%
oS 0p3) peues -
A

)

(3,0

b) y:—gx—z

¥=5S

Y= -

\/:*-LT )w'z-

x=-S
7:-%(4)—1
(5)'6) >/: H-z (-S:i)

¥ = O
=~ 4an-2
)/ /S__(l)
S~ A

}/‘

v==10 (lo,~
/

y=Z

How would you rate your Level of Understanding on this information? Emerging, Proficient, Extending?

What strategies will you implement to help you improve?
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